1. Which of the following is not a condition for perfect competition?

  A. A large number of firms exist.

  B. All firms produce an identical product.

  C. There are no barriers to limit entry and exit.

  D. All firms are price makers.

2. In perfectly competitive markets, each firm sees the demand for its

output as:

A.   a vertical line.

B.  a positively sloped line.

C.  a horizontal line.

D.  a negatively sloped line.

3. In perfect competition, the demand for each firm's output at the

equilibrium price is such that the firm

 A.  will lose all sales if it raises price alone.

 B.  will be worse off lowering price than it will be simply maintaining its price at the current equilibrium level.

 C.  will be able to sell the quantity it wishes to sell at the current equilibrium price.

  D. all of the above.

4. In perfect competition, which of the following is always true?

 A.  p = mr.

 B   p = ATC.

 C.  p = AVC.

 D none of the above.

5. "Normal profits" exist when economic profits are

 A.  > 0.

 B. < 0.

 C.  = 0.

 D none of the above. Normal profits always exist in competitive markets.
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6. If the price of the output is $6.00, the profit maximizing output level

for a purely competitive firm is 

 A.  10.

 B.  86.

 C. 122.

 D. 130.

7. With an output price of $6.00, the total revenues of a firm

producing at the profit maximizing level are

 A.  $60.00.

 B.  $516.00.

 C.  $780.00.

 D. $732.00.

8. With an output price of $6.00, a firm producing at the profit

maximizing output level has total costs of

 A.  $90.00.

 B.  $570.96.

 C.  $390.44.

 D. $630.50.

9. With an output price of $6.00, economic profits/losses for a firm

producing at the profit maximizing output level are

A.   $30.00.

B.   $54.96.

C.   $161.04.

D.   $101.50.
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10. Under the price and cost conditions depicted by graph, the firm

A.   is earning economic profits.

B.   is earning economic losses.

C.   is earning zero economic profits.

D.   none of the above. The firm's profit position cannot be determined.

11. Under the price and cost conditions depicted by graph, which of the

following is correct?

A.   The firm should operate in this condition in the long run.

B.   A temporary shutdown is warranted if the firm thinks the price will be higher in the future.

C.   The firm should Exit go out of business if conditions are not expected to improve in the future.

d. All of the above.
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12. The shut down point is: 

A. A

B. B

C. C

D. D

13 The short run supply curve the segment of mc above:

A. A

B. B

C. C

D. D

14. Which of the following is not a barrier to entry?

  A. patent rights.

  B. licensing.

  C. diseconomies of scale.

  D. control over an essential resource.

15. Monopoly 

 A.  exists in a market with a single seller of a good that has no close substitutes.

 B.  is always a matter of degree.

 C.  does not require high barriers to entry.

 D  all of the above.

16. A profit-maximizing monopolist will always produce the level of

output at which 

A.   P = MC.

B.   MR = MC.

C.   P = ATC.

D. all of the above represent the profit maximizing rule for the monopoly firm.
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USE THE ABOVE TABLE FOR QUESTIONS 17-19
17. Given the table the missing total revenue figure is:

A.   $3600.

B.   $4250.

C.   $4400.

D.   $4550.

18. Given the table the missing economic profit or loss figure is:

A.   $720.

B.   $685.

C.   $600.

D. $580.

19. Given the table what price should the profit-maximizing monopolist charge? 

A.   $ 11.

B.   $ 10.

C.   $ 9.

D. $ 8.

20. For a monopoly earning economic losses, the demand curve

A.   is above the average total cost curve at every level of output.

B.   is below the average total cost curve at every level of output.

C.   is tangent to the average total cost curve at every level of output.

D.   none of the above are correct because a monopoly firm cannot earn

economic losses.

21. The demand curve of a monopolist is

A.   identical to the marginal revenue curve.

B.   downward sloping and above the marginal revenue curve.

C.   downward sloping and below the marginal revenue.

D.   identical to the demand curve faced by individual price-taker firms.

Answers:



1.D

2.C

3.D

4.A

5.C
6.C 

7. D

8. B

9. C

10. B

11.C

12.C

13.C

14.C
15.A

16.B

17.B

18.A

19.C

20.B

21.B

